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Problem M 

Mingle Lineup 
 Time Limit: 3 seconds 

Memory Limit: 512 megabytes 

Imagine you are organizing a show at school. You already have 𝑛 students 
from group A standing in a vertical line, with their heights in order as 
𝑎', 𝑎(, . . . , 𝑎0. Just then, a group of students B consisting of 𝑚 students with 
heights 𝑏', 𝑏(, . . . , 𝑏6 want to join the line. 

The catch is that the students from group A want to keep their positions the 
same, but the students from group B are very flexible and can stand 
anywhere: right at the beginning, between any two students in the line, or 
at the end. 

A mistake is counted when a taller student stands in front of a shorter one. So, after inserting the students 
from group B into group A, what is the minimum number of mistakes you can arrange? 

Input 
Each test consists of multiple test cases. The first line contains one integer 𝑡	(1 ≤ 𝑡 ≤ 10*) — the 
number of test cases.  

• The first line of each test case contains two integers 𝑛 and 𝑚 (3 ≤ 𝑛,𝑚 ≤ 10") - the number of 
students in group A and B, respectively. 

• The second line each input test case contains 𝑛  integers 𝑎', 𝑎(, . . . , 𝑎0	(1 ≤ 𝑎% ≤ 10!) – the 
heights of students in group A. 

• The third line of each input test case contains 𝑚 integers 𝑏', 𝑏(, . . . , 𝑏6(1 ≤ 𝑏% ≤ 10!) – the 
heights of students in group B. 

It is guaranteed that the sum of 𝑛	over all input data sets does not exceed 10" and the sum of 𝑚 over all 
input data sets does not exceed 10".  

Output 
For each test case, output one integer — the minimum number of mistakes that you can arrange. 

Sample Input Sample Output 
3 
3 3 
3 2 1 
1 2 3 
3 4 
1 2 3 
4 3 2 1 
5 4 
1 3 5 3 1 
4 3 6 1 

4 
0 
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